

Good luck



Thus:

$$\frac{1}{x(1+x^2)} = \frac{1}{x} - \frac{x}{1+x^2}$$

2. Compute the Indefinite Integral

$$I = \int \frac{dx}{x(1+x^2)} = \int \left(\frac{1}{x} - \frac{x}{1+x^2}\right) dx$$

We integrate term by term:

$$\int \frac{1}{x} dx = \ln |x|, \quad \int \frac{x}{1+x^2} dx = \frac{1}{2} \ln(1+x^2)$$

 $I = \ln |x| - \frac{1}{2}\ln(1+x^2) + C \quad (1.5 \text{ pt})$

3. Evaluate the following primitive

$$I_0 = \int \frac{\arctan(x)}{x^2} dx$$

Integration by parts Let: (1 pt)

$$\begin{cases} v'(x) = \frac{1}{x^2} \Rightarrow v(x) = -\frac{1}{x} \\ u(x) = \arctan(x) \Rightarrow u'(x) = \frac{1}{1+x^2} \end{cases}$$
$$I_0 = -\frac{\arctan(x)}{x} + \int \frac{1}{x(1+x^2)} dx$$

From part 2:

Therefore:

$$\int \frac{1}{x(1+x^2)} dx = \ln|x| - \frac{1}{2}\ln(1+x^2)$$

So:

$$I_0 = -\frac{\arctan(x)}{x} + \ln|x| - \frac{1}{2}\ln(1+x^2).$$
 (1 pt)

4. Solve the Differential Equation

Given:

$$y' + \frac{y}{x} = -\frac{y^2}{1+x^2}, \quad y(1) = 2$$

Let $z = \frac{1}{y} \Rightarrow y' = -\frac{z'}{z^2}$ Substitute:

$$-z' + \frac{z}{x} = -\frac{1}{1+x^2} \Rightarrow z' - \frac{z}{x} = \frac{1}{1+x^2}$$
 (1 pt)

This is a linear ODE. Integrating factor:

$$z_h = k \exp\left(\int \frac{1}{x} dx\right) = kx$$
 (1 pt)

where $k \in \mathbb{R}$ Now, assume that $z_p = k(x)x$, (0.5 pt) So, we get

$$k'(x)x = \frac{1}{1+x^2} \Rightarrow k'(x) = \frac{1}{x(1+x^2)}$$

Integrate:

$$k(x) = \ln|x| - \frac{1}{2}\ln(1+x^2) \Rightarrow z_p = x\ln|x| - \frac{x}{2}\ln(1+x^2)) \quad (0.5 \text{ pt})$$
$$\Rightarrow z_g = kx + x\ln|x| - \frac{x}{2}\ln(1+x^2) \quad (0.5 \text{ pt})$$

Since $y = \frac{1}{z}$, so

$$y_g = \frac{1}{kx + x \ln|x| - \frac{x}{2}\ln(1 + x^2)}$$

Apply initial condition y(1) = 2 to find k:

$$y(1) = 2 \Rightarrow \frac{1}{k - \frac{1}{2}\ln(2)} = 2 \Rightarrow K = \frac{1}{2}(1 + \ln 2)$$

Thus the particular solution is:

$$y(x) = \frac{1}{\frac{1}{2}(1+\ln 2)x + x\ln|x| - \frac{x}{2}\ln(1+x^2)} \quad (0.5 \text{ pt})$$

Exercise. (5.5 points) Consider the differential equation:

$$y'' - 4y' + 3y = x^2 e^x \tag{E}_1$$

1 Solve the homogeneous differential equation associated with (E_1) .

We solve the homogeneous equation:

$$y'' - 4y' + 3y = 0$$

The characteristic equation is:

$$r^{2} - 4r + 3 = 0 \Rightarrow (r - 3)(r - 1) = 0$$
 (0.5 pt)
 $r_{1} = 3, \quad r_{2} = 1$ (0.5 pt)

Hence, the general solution to the homogeneous equation is:

$$y_h(x) = C_1 e^{3x} + C_2 e^x$$
 (1 pt)

2 Find a particular solution (y_p) of (\mathbf{E}_1) , then give the general solution (y_g) of (\mathbf{E}_1) .

The nonhomogeneous term is $x^2 e^x$, and since e^x is a solution to the homogeneous equation (root r = 1), we multiply by x. We propose:

$$y_p(x) = x(Ax^2 + Bx + C)e^x = (Ax^3 + Bx^2 + Cx)e^x$$
 (0.5 pt)

Now substitute compute derivatives into the differential equation:

$$y_p'' - 4y_p' + 3y_p = x^2 e^x$$

Using:

 $y_p = (Ax^3 + Bx^2 + Cx)e^x y'_p = (Ax^3 + (3A + B)x^2 + (2B + C)x + C)e^x y''_p = (Ax^3 + (6A + B)x^2 + (6A + 4B + C)x + (2B + 2C))e^x$ So set:

$$\begin{cases} A - 4A + 3A = 0\\ (6A + B) - 12A - 4B + 3B = 0 \Rightarrow -6A = 1 \Rightarrow A = -\frac{1}{6}\\ (6A + 4B + C) - 8B - 4C + 3C = 0 \Rightarrow 6A - 4B = 0 \Rightarrow B = \frac{3A}{2} = -\frac{1}{4}\\ (2B + 2C) - 4C = 0 \Rightarrow 2B - 2C = 0 \Rightarrow C = B = -\frac{1}{4} \end{cases}$$

Thus:

$$A = -\frac{1}{6}, \quad B = -\frac{1}{4}, \quad C = -\frac{1}{4} \quad (1 \text{ pt})$$

Hence the particular solution is:

$$y_p(x) = x\left(-\frac{1}{6}x^2 - \frac{1}{4}x - \frac{1}{4}\right)e^x = \left(-\frac{1}{6}x^3 - \frac{1}{4}x^2 - \frac{1}{4}x\right)e^x \quad (0.5 \text{ pt})$$

The general solution is:

$$y_g(x) = C_1 e^{3x} + C_2 e^x + \left(-\frac{1}{6}x^3 - \frac{1}{4}x^2 - \frac{1}{4}x\right)e^x$$
 (0.5 pt)

3 Determine the unique solution y of (E₁) satisfying the initial conditions y(0) = 2 and $y(\ln(2)) = -\frac{1}{3}$. We compute:

 $y(0) = C_1 + C_2 + 0 = 2 \Rightarrow C_1 + C_2 = 2 \tag{1}$

Now compute y(1):

$$y(\ln(2)) = 8C_1 + 2C_2 + 2\left(-\frac{1}{6} - \frac{1}{4} - \frac{1}{4}\right) = 8C_1 + 2C_2 - \left(\frac{4}{3}\right)e = -\frac{1}{3}$$
(2)

So:

$$8C_1 + 2C_2 = 1$$

Now solve the system:

$$\begin{cases} C_1 + C_2 = 2\\ 8C_1 + 2C_2 = 1 \end{cases}$$

Thus $C_1 = -\frac{1}{2}$, $c_2 = \frac{5}{2}$ Hence the unique solution is:

$$y(x) = -\frac{1}{2}e^{3x} + \frac{5}{2}e^x + \left(-\frac{1}{6}x^3 - \frac{1}{4}x^2 - \frac{1}{4}x\right)e^x \quad (1 \text{ pt})$$